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infieer= Import["d:\\Rescue\\Merken-nbs-mnbs\\Laplace_Berechnung der Netzwerkantwort\\Laplace_allgemein\\TP_4.jpg"]
importiere
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neooy= lap :=1/p*»1/ (p*"2*L1%xCl+p*ClxRg+1);
uc[t_] := InverseLaplaceTransform[lap, p, t];

Rg = 100; C1 = 100+~-9; O = 5x"3;
L1 :=1/ ((2%Pixf0)~2xCl);

Plot[uc[t], {t, @, 5/f@}, AxesOrigin » {@, @}, GridLines - Automatic, GridLinesStyle - Directive [Orange, Dashed],
PlotLabel -» "", AxesLabel -» {t /s, ucl}, PlotStyle -» {Thin, Blue}, PlotRange - Full]
Plot[L1*Cl*uc''[t], {t, @, 5/f@}, AxesOrigin » {@, @}, GridLines - Automatic,
GridLinesStyle - Directive [Orange, Dashed], PlotLabel -» "", AxesLabel -» {t /s, uL}, PlotStyle -» {Thin, Blue}, PlotRange - Full]
Plot[Clxuc'[t], {t, @, 5/ fO}, AxesOrigin -» {0, @}, GridLines -» Automatic, GridLinesStyle - Directive [Orange, Dashed],
PlotLabel -» "", AxesLabel -» {t /s, icl}, PlotStyle - {Thin, Blue}, PlotRange - Full]
Plot[Rg * Clxuc'[t], {t, @, 5/ f0}, AxesOrigin » {@, @}, GridLines - Automatic,
GridLinesStyle - Directive [Orange, Dashed], PlotLabel -» "", AxesLabel -» {t /s, uR}, PlotStyle -» {Thin, Blue}, PlotRange - Full]

Clear[Rg, C1, L1, lap, uc];
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